
 



 

 

https://www.kaggle.com/datasets/arshid/iris-flower-dataset


 

(1)

(−1)
𝑋𝑖 . 𝑊 + 𝑏 ≥ 1 𝑢𝑛𝑡𝑢𝑘 𝑌𝑖 = 1                      (1)
𝑋𝑖 . 𝑊 + 𝑏 ≤ −1 𝑢𝑛𝑡𝑢𝑘 𝑌𝑖 = −1               (2)

𝑓((𝑥)) = 𝑠𝑖𝑔𝑛(𝑤. 𝜙(𝑥) + 𝑏                                (3)

𝑓((𝑥)) = 𝑠𝑖𝑔𝑛 (∑ 𝑎𝑖𝑦𝑖𝜙(𝑥𝑖)𝑇 . 𝜙(𝑥) + 𝑏

𝑛

𝑖=1

)   (4)

𝑋𝑖

𝑌𝑖

𝑀𝑖𝑛𝑖𝑚𝑖𝑧𝑒 ∫ 1[𝑤] =
1

2
||𝑤||2                    (5)

 

𝐴𝑘𝑢𝑟𝑎𝑠𝑖 =
𝑇𝑃 + 𝑇𝑁

𝑇𝑃 + 𝑇𝑁 + 𝐹𝑃 + 𝐹𝑁
          (6)

𝑃𝑟𝑒𝑠𝑖𝑠𝑖 =
𝑇𝑃

𝑇𝑃 + 𝐹𝑃
                                (7)

𝑅𝑒𝑐𝑎𝑙𝑙 =
𝑇𝑃

𝑇𝑃 + 𝐹𝑁
                                      (8)



𝐹1 − 𝑆𝑐𝑜𝑟𝑒 =
2(𝑃𝑟𝑒𝑐𝑖𝑠𝑖𝑜𝑛 𝑋 𝑅𝑒𝑐𝑎𝑙𝑙)

(𝑃𝑟𝑒𝑐𝑖𝑠𝑖𝑜𝑛 + 𝑅𝑒𝑐𝑎𝑙𝑙)
        (9)    

 

 

 



0,94

0,88

0,95

0,89

0,93

0,96

1

0,84

0,94

0,97

0,92

1

0,93

1 1 1

0,86

1

0,75

0,8

0,85

0,9

0,95

1

1,05

Iris Setosa Iris
VersiColor

Iris
Virginica

Iris Setosa Iris
VersiColor

Iris
Virginica

Iris Setosa Iris
VersiColor

Iris
Virginica

F1-Score Presisi Recall

K-fold Cross Validation Percentage Split

0,88

0,9

0,92

0,94

0,96

0,98

1



 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 


